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S os0 200 | o5 12 19 17 018 350 | (pentod; G,+K) |
EF 14 TIf 1 6.3 0,47 250 | 200 —45 | 18 | 1,8 | 95 | 0045 | 220 | (tetrod; G,+A)
300 | 200 maximum (Ry, = 0,5 MQ; 1,=0,3 uA, Uy, =—1,3V) 100 | 30 S 07
SP 61 Maz 2 63 | 06 | 200 | 200 @ —15 | 108 | 27 | 85 | 07 |
SP 62 Maz 2 6,3 0.6 200 | 100 | —125 = 16 375 | 9
Z 62 MOG 3 6.3 0,45 250 | 100 | —24 @ 10 25 | 7,5 2 25 | 05
Z 66 MOG 3 6.3 0,63 250 | 200 | —1,85 | 8 2 75 0,75
ol
3CB6 amer 4 315 | 06 |
3CES amer 5 315 | 06 l 122 :25 -1 n 28 | 76 0.3 >6
4CB6 amer 4 42 | 045 20 12(5) -5 003 ﬂ 180
4CES amer 5 42 | 045 20 3 —2 95 | 28 | 62 0.6
. 200 | 150 | —8 | 001 | |
6 CB 6 int 4 6,3 03 | 20 | 1o o % X 0s
6 CES amer 5 6,3 0,3 ] 5 , maximum (f= 40 MHz) ’
6T6 amer 6 6,3 0,45 2% | 100 | —1 | 10 2 5,5 1
7V7 amer 7 6,3 0,45
7 W7 il 8 63 0.45 303 150 | -2 |10 39 | 58 | 03 160
14V 7 amer 7 126 | oms( | 30| 130 8 000 % . 08
14 W7 amer 8 | 126 | 0225 150 | maximum [ '
1231 Syl 7 1 63 | 045 300 150 | —1 ;10 2,5 5,5 0,7
Equivalents
Ca | Con | Cari ! Z62D MOG =
T — ' — 3CFé amer =
© pF ‘ pF | pF 4 CF 6 amer =
| |
9 8 1+ 0,01 pentod.
EF 14 {9 ‘ 10 01 . tetrod.
6 CB 6 !
6CES| . 63 1,9 002 | vide *5
6 CF 6 6,5 \ 3 i 0,015 | vide *6
6 DE 6 : ‘
7V7 95 | 65 \ 0,004 | vide *6
7W7 95 | 7.0 | 00025 | vide *6
| | |
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